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2 BERTR

EE RS
ca ) — MEFE
CESHR ) (kEED) (1)
Vo= 7.8  + 133.5  + 63.5
<
—
A = 63.3  + 226.1 + 95.1
PR (CHEE3.0m LA T I A A [ R y)
A = -
- %% (SD345)
D16-D25 XI5
D29-D32 XI5
D35 XI5

274.8

384.5

8,886
2,181
13,464

kg
kg
kg

24,531

kg



2-1)JEEhiED
(D=7 —MEFE (o ck=24N/mm?)

R JEC
Ay = 1/2  X(2.300  +6.000) X 0.500 = 2.08 mp?
Ay = 6.000 X1.200 = 720 m?
Al = 93 m2

R JEC RS R
Ay = 7.000 X2.200 = 15.4  ?
A2 = 15.4  p?

hisRa o) — MERE
(BERRET T Atm2)

AV 15.4 X9.500 - 9.3 X7.000 -  6.72  X0.500 = 7.8
(2)U G )

A = (7.000 +9.500) X2  X2.200 - 9.3m?2 = 63.3 m?

(3)EkFH (Mt = A R ER A R )

D16-D25 B i = 8,886 kg

D29-D32 B i = 2,181 kg

D38 B Hi7N = 13,464 kg

#H = 24,531 kg

T HE T = 116 {#EpT

R D38 = 0 f&Epr

D32 = 6 fEpr

TVT R D16 1.=290 = 328 Ff

KASERT v B — 10 (BT AR a7 — w75 — D13 X 210)
n= 227 P = 227 A

U-D¥L=arzy)—k

A 9.600 X7.200 - 7.100 X6.200 = 25.1 m?
vV = 25.100 x0.100 = 2.5 m®

(4-2) L= 7)) — R

A = 9.600 X0.100 + 9.600 x0.100 = 1.9 m>
A, = 7.200 X0.100 + 0.600 x0.100 X2 = 0.8 m2
A = 2.8 m>
(5) T HifLes
Al = 1.916 X7.000 X2 + 7.000 X1.200 X2 = 43.6 m>
v (3.4507+0.6007) =3.502
A2 = 9.3 + 2.300 X7.000 - 2.100 X 3.200 = 18.7 m>

SERBAR TR R+ R T

A = 62.3 m?
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BERRBEA T T > 1 —

a7 — MEFL (S EHE)
HIFLEE 3004 E60mm AT HI| FLIE 10024 E1100mmbPL T

b 32 0= 510 = 22 i
TEAM (=ARX T ZMHE)
kN/m®
EAEKg/1004) = (D - ¢ )X n X 1/4 X L. X1004] X 1200 X 1.09
(R0
Vo= [(0.0322 00222 )X x X1/4 X 0510 X100 ]X1200 X1.09
= 28.29 kg
JECHI E 75 77 Bl 50

c 71 — ML (S EHE)
HIFLEE  30LL_E60mmAi SlEIRES 10024 _F1100mmbBL T

¢ 32 0= 450 = 20 PN
TEAM (R FL 2 MHE) |
kN/m3
EAEKg/1004) = (D2 - ¢ )X n X 1/4 X L. X1004] X 1200 X 1.09
(R0
Vo= [(0.042 2~ 0.032 2 )X 1 X 1/4 X 0.450 X100 ]X1200 X1.09
= 3421 kg

a7 — MEFL (S ERE)
HIFLEE 3004 E60mm AT HI| FLIE 1002, E1100mmbEL T

® 35 0= 510 = 44 N
TEAM (=ARX 2 M)
kN/m®
HEAEKg/1004) = [(D? - d® )X = X 1/4 X L X1004] X 1200 X 1.09
(E|HE1%%50)
Vo= [(0.039 % 0.029 2 )X g X 1/4 X 0.510 X100 ]X1200 X1.09
= 35.63 kg

a7 — MEFL (S EHE)
HIFLEE 3004 E60mm AT HI| FLIE 10024 E1100mmbEL T

® 35 0= 260 = 56 N
TEAM (=ARX 2 M)
kN/m°®
HEAEKe/1004) = [(D? - d® )X = X 1/4 X L X1004] X 1200 X 1.09
(E|HE1%%50)
Vo= [(0.035 % 0.025 2 )X g X 1/4 X 0.260 X100 ]X1200 X1.09

= 16.03 ke



2-2)FE8
(=71 — METE

W 1 A (At 50
Ay = 2.600 X 6.900 = 17.94 2
(BEREED)
Ay = 2.100 X 3.200 = 6.72 m?
iRz 7)) —MEFE
A, = (17.940  -6.720) = 11.220 2
V = 11.22 X 11.900 = 133.5 °
(2)7RU e
—
A = 2.600  X11.900 X2 = 61.88 2
A, = 6.900  X11.900 X2 = 164.22 2
A = 226.1 2
(3) T LR
F350 (T i R O TEAND)
A = 2.100 X2  X13.500 = 56.7  m?
A, = 3.200 X2  X13.500 = 86.4 2
BERRALIZ IR
THABET YA = 143.1 2

4Ky 3% é%%ﬁ%{éﬁi(3.2.2(1)*%%*ﬁéﬁi(nyﬁu—k%éj) (& FR)
THEME R = 3.200 , FAEH4T L o= 2.100
B (2.0 DLk, 25 =yl 3.0 DLk, 35 L)

h = 11.900 = 11.9 m



B)YT v T —Hf
T —F T EFMT I — Bt

« a7 — ML (S A )
HIFLEE  30LL_E60mmAi SlEIRES 10024 _F1100mmbBL T

b 48 0= 770 = 102 K
TEAM (A% 2 MHE)
kN/m®
HEAEKe/1004) = [(D? - d° )X = X 1/4 X L X1004] X 1200 X 1.09
(BB
Vo= [(0.045 2= 0.038 2 )X x X 1/4 X 0.770 X100 ]X1200 X1.09
= 4596 kg
BERRBEA R T > 1 —

« a7 — ML T(SEHE)
HIFLEE  30LL_E60mmAi I LI 10024 _F1100mmbBL T

¢ 32 0= 510 = 58 K
TEARS (=R R tétR)
kN/m”
HEAEGKe/1004) = [(D> - d® )X = X 1/4 X L X1004&] X 1200 X 1.09
(HIHR 50
Vo= [(0.0322 00222 )X zx X1/4 X 0510 X100 ]1X1200 X1.09
= 2829 kg

(6) 8k (XEDN5)
PR ERIT ERROETE L



2-3)%

(D= 7Y — MEF

BERRHD
Ay = 1/2 X(3.200  +8.500) X 0.500 = 2.93
A = 8.500 X 0.985 = 8.37
Al = 11.3
UL
Ay = 1/2 X (6.400 +11.625) X 0.800 = 7.21
A = 11.625 X1.700 = 19.76
A2 = 27.0
w7V —MAFE (E R RE I T Fm2)
Vi = 27.0 X3.300 - 11.3 X2.100 - 6.72 xX1.100 = 58.0
Vo = 8.500 X1.070 X 0.600 = 5.5
(A2Mf] faximPnibe)
VvV = 63.5
(2)
Al = 27.0 X2 = 53.9
A2 = (1.700 +3.202 +2.271 +0.800) X 3.300 = 26.3
v (0.8007+3.1007) =3.202 J(0.8007+2.1257) =2.271
A3 = 8.500 X1.070 + 1.070 X 0.600 X2 = 10.4
(A1 A T )
A4 = 6.400 x3.300 - 6.400 X 2.600 = 4.5
(T
A = 95.1
(3R ()
M EEIT EROETEH L
(4) T s
LR (BERX BT i D I
A = 11.3 X2 4+ 1.070 X 8.500 = 31.7
Ay, = 3.214 xX2.100 + 2.183 X 2.100 = 11.3
A3z = 2.100 X 0.950 = 2.0
(PR

THHET XA 45.0



(5) 7V —RHEIFL T
ca 7)) — MEIFL T (EER)

HIFLEE  30LL_E60mm A E[EIRZS 10024 F1100mmPd T
b 42 0= 650 = 21 N
SEPN%) (AR ZMHR)
kN/m*
HEAEKg/1004) =  [(D*- & )X =n X1/4 X L X1004] X 1200 X 1.09
CHIERED)
Vo= [(0.042 % 0.032 2 )X g X 1/4 X 0.650 X100 ]X1200 X1.09
= 49.41 kg
27V — ML L(E# N ~<RUL)
HIFLEE 1024 E30mm A E[EIRZS 300LL 400mmbL
b 26 0= 330 = 74 N
SEPN%) (AR 2 MHR)
kN/m*
HEAEKg/1004) = [(D*- ¢ )X = X1/4 X L X1004] X 1200 X 1.09
CHIERED)
Vo= [(0.026 % 0.016 2 )X g X 1/4 X 0.330 X100 ]X1200 X1.09
= 14.24 kg
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‘\___,%‘ vsoa.g_! . E%Rﬁ a2 =_E/76=13.7m2
00 ‘ aJoo J |
. 12900 | 04 6000 500_1700_|
140
BERR JEC i
Ay = 1/2 X(2.100  +6.000) X 0.500 = 2.0 m°
Ay = 6.000 X1.200 = 7.2 m°
Al = 9.2 m°
AR JEE e it
Ay = 7.000 X 2.200 A2 = 15.4  p?
(DHEH!
3”% m2
Vi1 = 1/2  X(12.900 +13.657) X13.7 = 1819 °
Vi—2 = 1/2 X (8.000  +8.757) xX9.4 = -78.8 m°
(BERR B HEBR)
V-1 = 1/2  X(17.691 +13.657) X 27.6 = 432.6  °
Vo2 = 1/2  X(12.801 +8.757) X18.2 = -196.2 n°
(BERR B HEBR)
V1l = 339.5 °
j:@ m2
Va—1 = 1/2  X(19.588 +13.657) X 20.0 = 332.5 m°
Va3 = 1/2  X(12.801 +8.757) xX34.4 = 370.8 m°
(BERBHLAEL ) (18.2+16.2)
V2 = 703.3  p°
HHIA
V = 339.5 + 703.3 = 1042.8 °



(QHRL

T3

/J——’TJE ygrmi):m.om || /
P
1700 |
100 7000 100
m2
V-1 = 1/2  X(19.588 +12.900)  X54.1
m2 m2
Vi—2 = 6.900 X5.7 + 9.500 X 14.0
(R
(3)%% +MHIE
V, = 1042.8 - 706.5 X 1/0.9
(4)F e

A = 9.600 X7.200 - 7.100 X6.200

878.8

-172.3

706.5

257.8

25.1



Die T

Al =
A2 =

A3 =

14400

L2200 _

1200500, 11625 | w _‘1— Tsoo,lzoo
Z |
7\ | J?
\
. ‘
' |
l i
| |
l |
, !
| |
| |
| |
| '
! |
% : | %
7 : |
, | ,? Nz
11200503 9500 ‘ _‘503_&00_
|
REER
g
7%
I — _____i_____gl____
| =
| I
[ - { MRS
500 11625 500
L1200 12625 L1200
(1 X(3.300 +11.625) +4.4) X14.400
(1 X(3.300 +11.625) +4.4) X15.470
(2 X(7.000 +9.500) +8.8)  X2.200

15470

_ 20

1200500 3300 groqnzoo
7 :127
i %
[ .
——
7000 .‘SDQINO.
FEmE

_g

77 Z.%

%

500 500
= 278.3  fH4m’
= 299 Hhm?
= 92 %ﬁmz

A = 669.3  Him’



5) X R T.

12700
11964

_[e8s0 |

IE'IE' _

11994
12700

1/2
1/2

(6.400

X (11.994 +12.700)

X (11.964 +12.700)

X3.300

X1.875

X 2.850

6.400

g
3300
x3.300 = 76.40  Z%m3
x3.300 = 115.98 ZZm3
X 2.600) x11.900 = 53.3 ZZm3
= 245.7  ZZm3



6) 7K T

(6-1) SRHESCHTREED)

1,120 ( 710 )

ENAVE DRI
-  — K AAEDENVS)V)E (mm) A | SOREE
L 28 32 20 )
[ap)
S
TUN-FEMAE n = 4
& [50
I AEEN AV 3 B TH T
vl = 1.12 x 0.71 x 007 x 2 = 0.11 m3
v2 = 14 x 3142 x 0.15 2 x 069 x 4 x 2 = 0.10 m3
v3 = 14 x 3.142 x 0.05 2 x 0.65 4 2 =  -0.011 m3
vi = 1.01 x 060 x 0.0l x 2 =  -0.012 m3
>V = 0.2 m3
M R
FREROME): ¢ =150mm
L = 0.69 x 4 X 2 = 5.5 m
TBEAKALER T
V=U T (mRE R R 30X30)
PN
L. = (8.500 X2  +1.150) = 182 m
FE K 0
L = 260 X 2 = 5.2 m
L = 234 m




